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SA OGN
ma: N2
el FEed s N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 19,983,899 26,301,197 6,317,298
= 1,174,321
Al 18,809,578
A=K 8,443,640 12,008,600 A\3,564,960
dgtE s XN 8,443,640 12,008,600 A3,564,960
SMJEEd & 2EANS NE 8,443,640 12,008,600 A3,564,960
306 EH= 1,733,640 2,208,600 A474,960
01 &= 1,733,640 2,208,600 A474,960
OZIRISESHH £d= 600,000
— LS ES 500,000,000 500,000
—SHESUES 100,000,000 100,000
O&JI 8MJIYFEEIIs ¢
964,800,000 964,800
OSAHUMINHUESHY SHS(HLHSS
A 168,840
—JIEIH XL 160,440,000 160,440
— &I XL 8,400,000& 8,400
307 @I2t01 & 6,710,000 9,800,000 A3,090,000
08 OIXt2d=S 6,710,000 9,800,000 A3,090,000
Oosallgsdits 0IX2ds
6,710,000,000& 6,710,000
g 2 JI=Xd 7,948,499 9,366,675 1,418,176
= 424,321
Al 7,524,178
JIEXE Al 785,111 1,086,970 /301,859
== 309,925
Al 475,186
JIEXE AR =2 117,130 302,574 A185,444
201 223 18,380 21,048 2,668
01 At22telt] 14,880 17,200 A2,320
OJIXE Al S22 M=
3,840,000& 3,840
ORFA JILN A/ BA S
100,000 x 162 *23] 3,200
OZJgEd &oRAS FA+g
150,000& x10E *12] 1,500
OZJHEd ST M
274,0003 100 A 2,740
OJIHE2XLMHIA OIE=
300,000 x 122 3,600
02 S3=gHl 3,500 3,848 A348
OXIY H2ME ABA AISE
900,000 900
OXt&=Al 22t 2,600
—254l 40,0002 123 480
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SA: IRTRD
33 J1g € Jl=XE
Rl JIgAE MHlA (CHo M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—28= 700,000 ~2CH 1,400
— XS XAl 120,000 <2CH 240
—==c/H| 240,000 =2CH 480
203 =] 7,950 4,526 3,424
03 A=A 2= 7,950 4,526 3,424
OsSMIIYFY g2
7,950,000 7,950
307 elztol & 10,800 27,000 216,200
02 2IZHBYAIHE X 10,800 27,000 16,200
OAZSSA2HH AHE X2
10,800,000 10,800
308 AHRIEMSOIE 80,000 120,000 40,000
183 SIS B XA AIE 80,000 120,000 240,000
O&JIE AEDIY &F 80,000,000& 80,000
2782 IS HEMS(ZHIXIH) (HEAY) 598,621 748,276 149,655
= 302,725
Al 295,896
402 QI”F X201 & 598,621 748,276 149,655
= 302,725
Al 295,8%
02 QI A2 AL E R (0IHTHEA) 598,621 748,276 149,655
OA+R Jlgatd HE A
598,621,000 598,621
=S 302,725
Al 295,896
A= X2 15,360 12,120 3,240
201 =3 15,360 12,120 3,240
01 At2t2lt] 1,320 1,320 0
ORQUBHIAIAE AIER
110,000& ~12& 1,320
2 s5=34l 14,040 10,800 3,240
O& A2l 1,170,0002 122 14,040
SAINY =SA JIsSAF X XIE A 24,000 24,000 0
s 7,200
Al 16,800
307 212+01& 24,000 24,000 0
[ 7,200
Al 16,800
02 IHB A HE L 24,000 24,000 0
OSAIIY JI=sA Sl XA
24,000,000 24,000
= 7,200
Al 16,800
SAJY == GEAIE JHH XA 30,000 0 30,000




SA: IRTRD
M 0|1y & J|=KE
o2l JIgXE MYIA (CHo M)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 30,000 30,000
02 QIRHHAAIHE B X 30,000 30,000
OF£|Y =5 QFAIL W XA
10,000,000 37 2 30,000
SUHEZ XA 185,593 345,400 A 159,807
= 40,500
Al 145,093
=Ll OBE X2 54,593 60,400 Ab,807
101 @124l 27,593 0 27,593
M ORIM2ZISES 27,59 0 27,59
ORFAl SH4F FABHE JI2H2ZX
ol24d| 20,854
=JlEga
10,0302 #7AI 2H1 24212112 16,219
—FE4g
10,0303 7 Al 2H+1H 52« 11E 3,862
—oixiag
10,0303 *7 Al 2+ 1G 12+ 113 773
ORFA 242 HAITOHE JI2ZEHZ2 2t
MERIF 3,973
=Jl2=
1,910+ 7A| 2 1B #2113 3,089
—z=Hay
1,910 %7 Al 2 1B x5« 11E 736
—oiRiag
1,910+ 7 Al 2 x 1B+ 1L+ 113 148
OF&A 2442 TAIHOE JIZ2HHZ2 2 Xt
SE= 2,766
—=2d3 24,823,260 x4 5% 1,118
—HLEE 24,823,260 3.545% 880
— oA QUES
879,990& *12.95% 114
—1E2H 24,823,260 *1.75% 435
—dHHEE 24.,823,2602 +0.87% 219
201 Let2| 2,000 50,000 48,000
01 Ar2eltl 2,000 3,000 A1,000
OXS oS 2228 = A
2,000,000& 2,000
307 gI2Hol ™ 25,000 8,400 16,600
02 QIZHAAAIHE X 25,000 8,400 16,600
OsaJ|g optdlol &4
500,000 *63| 3,000
ORFABI|oA =HUAHS 29
12,000,000 12,000
OR&IY MESHMAPLIEE X2
10,000,000 10,000
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A JIEXE
M J1g € DX

chel: IUHE=ZX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S MAIZ OHE IR (SHIXI) (HAY) 131,000 285,000 154,000
= 40,500
Al 90,500
307 el2to| & 131,000 285,000 154,000
= 40,500
Al 90,500
02 QIZtEHAEE X 131,000 285,000 154,000
O=U &AIsl HEEIt XA
81,000,000 81,000
== 40,500
Al 40,500
O=U HAIZ WSSO X (AIBIZI})
50,000,000& 50,000
SEMAISH XEH 5,768,452 6,774,248 21,005,796
SHMAASHE 2g XA 5,768,452 6,774,248 A 1,005,7%
306 £ 5,768,452 6,774,248 1,006,796
01 £g= 5,768,452 6,774,248 A1,005,79%
ORI s £
5,768,452,000& 5,768,452
Jl= g X 450,280 796,440 A346,160
< 73,8%6
Al 376,384
JIEHE NZA 240,000 484,000 A244,000
307 lztol & 128,000 260,000 A132,000
02 2B YA HE X 128,000 260,000 132,000
O=U -2 S&Enaes &5 A&
128,000,000 128,000
308 AtAIEHMSOIE 112,000 224,000 112,000
18 S| 2SO BHASAIE 112,000 224,000 A112,000
Osallg Hgdasz Bsd XM
47,000,000 47,000
OCIXONE: XA 65,000,000 65,000
JI==H 111,220 222,440 A111,220
= 33,366
Al 77,8%4
308 AXIHS0IA 111,220 222,440 A111,220
= 33,366
Al 77,854
18 S| 2SS ZB XA AIE 111,220 222,440 A111,220
OJI==EAE 111,220,000& 111,220
== 33,366
Al 77,854
gDy 23 23 NAAME 45,000 90,000 45,000
= 13,500




2A:
X XH -
o e

=aak

JIg X2t
g & JIsXg

[l

Jl= g X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 31,500
308 AtXIEHMSOIE 45,000 90,000 245,000
=S 13,500
Al 31,500
13 SI[2SOHe & EAS A 45,000 90,000 /45,000
Ofelllg 2= A3 XA
45,000,000 45,000
< 13,500
Al 31,500
A0IESE SN 54,060 0 54,060
= 27,030
Al 27,030
308 AHAIEMSOIE 54,060 0 54,060
=S 27,030
Al 27,030
18 SIS AS A 54,060 0 54,060
OANESE S A
54,060,000 54,060
< 27,030
Al 27,030
SAUHIIY =4 759,063 286,617 472,446
FYEFUH 29 K& 70,000 111,653 241,653
307 elztol & 70,000 111,653 241,653
02 2IZHBYAIHE £ 70,000 111,653 A\41,653
Ogt=Met2l|=d FEEFUE XA
50,000,000 50,000
OZYgEsHH XA 20,000,000& 20,000
SHRDSSHE A& 22| 689,063 174,964 514,099
308 XtXIEMSO0IE 668,117 167,464 500,653
18 SISOt EAS A 668,117 167,464 500,653
ORHRDSEHIE Al&2teltl
668, 117,000& 668,117
403 AXIEHMSAH=0ld 20,946 7,500 13,446
02 SISOt =2 A P E A I 20,946 7,500 13,446
OFXRDSEHH &I
20,946,000 20,946
+=E9% 23 € JIg=RA 1,838,500 2,199,526 A361,026
= 750,000
Al 1,088,500
f4 & = NE 338,500 689,126 A350,626
ofiel OHIE X3 324,900 689,126 N364,226
202 048l 4,280 9,600 N5,320
04 =Xl=todb] 4,280 9,600 A5,320




SA OGN
B SEolzr st U IR
ol 29 & =5 A2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdllIANENEE S USSR 0]
4,280,000& 4,280
203 =] 4,720 4,526 194
03 A=A PR FA| 4,720 4,526 194
OMASLAY HREZ
4,720,000 4,720
307 212+01& 150,000 436,500 A\286,500
02 LB HANHEE 150,000 436,500 286,500
Ol EAIS] HEEIH XA
5,000,000 *309H At 150,000
308 AHXIEMSOIE 165,900 238,500 AT2,600
18 SIS0t HAS A 165,900 238,500 AT2,600
oS =SS =E=FHl X2
40,000,000 40,000
Ol AIEIHEE IHA
8,000,000 * 109 At 80,000
OsJg =88 X2
500,000 *279H At 13,500
O=2=2W3IX X
1,800,000 =187 At 32,400
ESGEE K& 13,600 0 13,600
201 et 3| 1,600 0 1,600
01 At2t2l] 1,600 0 1,600
SHAl JILESGH SN 2R A2 e+
100,000 8 & =22 1,600
307 elztol & 12,000 0 12,000
02 2IZHBYAIHE X 12,000 0 12,000
O33Y ESG &AEE XA
12,000,000 12,000
R 2= 1,500,000 1,510,400 10,400
== 750,000
Al 750,000
=QUEIY R NHEXS 1,500,000 1,500,000 0
[ 750,000
Al 750,000
307 glztol & 1,500,000 1,500,000 0
= 750,000
Al 750,000
02 2B YA E X 1,500,000 1,500,000 0
OA=EIIY = ANEEXE
1,500,000,000& 1,500,000
= 750,000
Al 750,000
St D2I0PIIMES =54 1,542,400 2,619,200 /1,076,800
Y S 100,000 230,000 130,000




A JIEXE
M HY DRIPDLIXIAE |4

el E2RUY |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
R4 N3 100,000 90,000 10,000
403 AXIEHMSAH=0lH 100,000 0 100,000
02 SI12S0ICH et =& 2 EF A I 100,000 0 100,000
OdgXAE ?8t MHlAZR 23 JlsXl
& olgs X3 100,000,000& 100,000
Hag |54 1,442,400 2,264,000 821,600
=gy |4 630,000 946,000 A316,000
307 @12t0| & 630,000 846,000 216,000
02 QB HANEER 630,000 846,000 A216,000
Osgllsde X 315,000,000 315,000
OSgHIZLIAHE XIS
315,000,000 315,000
TEAMY F4d 270,000 460,000 A190,000
307 el2to| & 270,000 460,000 A190,000
02 2IZHB YA AR & 270,000 460,000 190,000
OJ|gaa K& 270,000,000 270,000
&Y |4 270,000 315,000 /45,000
307 @12t01 & 270,000 315,000 /45,000
02 QB HANSEER 270,000 315,000 /45,000
O I&IIsdE K& 270,000,000 270,000
Mieteate |4 270,000 270,000 0
307 glztol & 270,000 270,000
02 LB HAHE L 270,000 270,000
Oet=Act2lsd d2ldEItdE X3
270,000,000& 270,000
AR Fd 2,400 3,000 2600
201 er23| 2,400 3,000 2600
01 AtR2te|HI 2,400 3,000 A600
OFHAl AT GRS e+
2,400,000& 2,400
& DRIDIRIAYS S4(MetEHR) 142,400 0 142,400
AFAEXI 2] {2t 142,400 0 142,400
AAEXO A2l 142,400 0 142,400
201 er23| 2,400 0 2,400
01 AtR2t2|HI 2,400 0 2,400
O LERHE HAES KA Bt
3 FAg 150,000 8 »23] 2,400
207 AR 140,000 0 140,000
01 H7ESHI 140,000 0 140,000
OFLpMAC] 22DI2HE BHE 89
40,000,000 40,000
O LPMAL] SHE MO HEY EEH
100,000,000 100,000
SR EEeH(Hege) 39,100 0 39,100




S JIRRIR D
Hu: EXRISSHEHSLLR)
x|

ol 2018 FAR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 ENRX 39,100 0 39,100
ISR &S 39,100 0 39,100
201 er23| 12,600 0 12,600
01 At2teltl 12,600 0 12,600
OJIH =X 2= MH 4,000,000& 4,000
OIILRXIAS| AAse
5,000,000& 5,000
OJIEEEXZINHIA OIER
300,000 * 122 3,600
202 04l 5,000 0 5,000
01 =LHN LI 5,000 0 5,000
OJIERX &S0
250,000 x4 H+53] 5,000
203 =8| 6,500 0 6,500
03 A=A PR FZI| 6,500 0 6,500
OJIE R g2 6,500,000& 6,500
303 Zal= 15,000 0 15,000
01 Za= 15,000 0 15,000
OJILRX Za= 15,000,000 15,000
HH2LZHI(OIL XA 29,360 47,196 A17,836
Jl=2dsl 29,360 47,196 A17,836
JI23Hl 29,360 47,196 17,836
201 fet=3| 14,160 19,644 N5,484
01 At 22|l 12,960 18,144 Ab,184
OFMEg0123l 12,960
—2ot=2H| 40,0002 x15*122+0.8 5,760
—=4| 50,0002 x152x12&+0.8 7,200
02 S3=gl 1,200 1,500 A300
OoRER3 1,200,000& 1,200
202 04| 10,800 24,192 13,392
01 2LHA b 10,800 24,192 13,392
OgRFZ|=0d|
120,000« 15 *122+0.5 10,800
203 HR=H] 2,400 3,360 A960
M EA2ER=A 2,400 3,360 2960
ORNEgE =AY
250,000 x122+0.8 2,400
308 AXIHSOIA 2,000 0 2,000
07 MXISHHIBE = 2,000 0 2,000
OUWLAMAS XXM ssSHSE2S =
g2 2,000,000& 2,000




